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kk— Guided Notes and Activities -- pach

Cartesian Products (p. 41)

Ordered Pair: a grouping (not a set) in which the order matters. Ordered pairs are placed in
parentheses. (a, b) is an ordered pair in which a comes first and b comes second. A pair of
shoes is ordered because it does matter which shoe is which (left, right). A pair of socks is
not an ordered pair because it doesn’t matter which sock 1s which.

Cartesian Product of two sets: is a set operation denoted by A x B (read A cross B) is the
set of all possible ordered pairSsuch that the first element of the ordered pair is an element of
A and the second element of the ordered pair is an element of B.

x Charts or Tree diagrams can be used to determine Cartesian Products.

Example 1: Given A = {1, 2} and B={left, right}, find A x B.
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Example 3: Find Ax Aif A= {10, 11, 12}.
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Example 5: If A= {1, 2, 5} B={0,1,2} andC= {4,5}. Find(AuUB)xC.
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